

Received: 17.03.2014 Accepted: 02.05.2014 Editors-in-Chief: Naim Çağman Area Editor: Oktay Muhtaroğlu

The Generalized Hyers-Ulam-Rassias Stability of a Quadratic Functional Equation in Fuzzy Banach Spaces

Nabin Chandra Kayal^{a,1}(kayalnabin82@gmail.com) Pratap Mondal^b (pratapmondal111@gmail.com) Tapas Kumar Samanta^c (mumpu_tapas5@yahoo.co.in)

^aDepartment of Mathematics, Moula Netaji Moula, Howrah - 711312, West Bengal, India. ^bDepartment of Mathematics, Orphuli Uday Chand Memorial Institute, Orphuli, Bagnan, Howrah -711303, West Bengal, India.

^cDepartment of Mathematics, Uluberia College, Uluberia, Howrah - 711315, West Bengal, India.

Abstract - In this paper, our target is to generalize the stability theorem of generalized Hyers-Ulam-Rassias Stability of the quadratic functional equation f(2x + y) + f(2x - y) = 2f(x + y) + 2f(x - y) + 4f(x) - 2f(y) in fuzzy Banach spaces.

Keywords - Fuzzy norm, Hyers-Ulam stability, quadratic functional equation, fuzzy Banach space.

1 Introduction

The idea of studying stability problem of functional equations started with a well-known problem posed by Ulam [13] in 1940 concerning the stability of group homomorphisms. Let G_1 be a group and let G_2 be a metric group with the metric $d(\cdot, \cdot)$. Given $\varepsilon > 0$, does there exist a $\delta > 0$ such that if a mapping $h : G_1 \longrightarrow G_2$ satisfies the inequality $d(h(xy), h(x)h(y)) < \delta$ for all $x, y \in G_1$, then a homomorphism $H : G_1 \longrightarrow G_2$ exists with $d(h(x), H(x)) < \varepsilon$ for all $x \in G_1$. In the next

¹Corresponding Author

year Hyers [7] gave a partial acceptable answer to the above said fact. He showed that if $\delta > 0$ and $f : E \longrightarrow E_1$ with E and E_1 Banach spaces, such that $|| f(x + y) - f(x) - f(y) || \leq \delta$ for all $x, y \in E$ then there exists a unique g : $E \longrightarrow E_1$ such that g(x + y) = g(x) + g(y) and $|| f(x) - g(x) || \leq \delta$ for all $x, y \in E$. Aoki discussed the Hyers-Ulam stability theorem in [16]. Rassias much worked on this matter and further generalized the result of Aoki in 1978. He formulated and proved the generalized theorem in [21], which implies Hyers theorem as a special case. The notion of existence of unique additive mapping was initiated by Aoki [16] and recently Maligranda corrected it on allowing that the mapping f satisfy some continuity assumption.

The quadratic function $f(x) = c x^2$ satisfies the functional equation

$$f(x+y) + f(x-y) = 2f(x) + 2f(y)$$
(1)

and therefore the equation (1) is called the quadratic functional equation. Skof [8] proved the Hyers-Ulam stability theorem for (1) for the function $f : E \to E_1$ where E is a normed space and E_1 is a Banach space. In fact, Cholewa [12], S. Czerwik [15] proved the Hyers-Ulam stability theorem for (1) replacing E_1 by an Abelian group. This result was further generalized by Rassias [22], C. Borelli and Forti [5]. Later on, in the paper [9], the authors further generalized this result for the new quadratic functional equation (1).

Ever since the concept of fuzzy sets was introduced by Zadeh [10] in 1965 to describe the situation in which data are imprecise or vague or uncertain. It has a wide range of application in the field of population dynamics, chaos control, computer programming, medicine, etc. Kramosil and Michalek [11] introduced the concept of fuzzy metric spaces in 1975, which opened an avenue for further development of analysis in such spaces. The idea of fuzzy norm was initiated by Katsaras in [2]. Some mathematician have defined fuzzy norm on vector space from various point of view. Following Cheng and Moderson [14], Bag and Samanta [17] gave an idea of fuzzy norm on a linear space in such a manner that the corresponding fuzzy metric is of Kramosil and Michalek type [11] and then it is generalized by Samanta et.al. [18]. But according to the discussion of George and Veeramani [1], it can be proved that an ordinary normed linear space is a special case of fuzzy normed linear space. Thereafter many authors [3, 6, 19, 20] tried to generalize the stability theory of several functional equations in fuzzy Banach spaces.

In this paper, our target is to generalize the stability theorem of generalized Hyers-Ulam-Rassias Stability of the quadratic functional equation (1) in Fuzzy Banach Spaces.

2 Preliminary

We quote some definitions and notations which will be needed in the sequel.

Definition 2.1. [4] A binary operation $* : [0, 1] \times [0, 1] \longrightarrow [0, 1]$ is continuous t - norm if * satisfies the following conditions :

Through out this article, we further assume that a * a = a for all $a \in [0, 1]$.

Definition 2.2. [3] The 3-tuple (X, N, *) is called a **fuzzy normed linear space** if X is a real linear space, * is a continuous t - norm and N is a fuzzy set in $X \times (0, \infty)$ satisfying the following conditions :

 $(iii) \quad N(cx, t) = N\left(x, \frac{t}{|c|}\right) \text{ if } c \neq 0 ;$

 $(iv) \quad N(x, s) * N(y, t) \leq N(x + y, s + t);$

(v) $N(x, \cdot)$: $(0, \infty) \rightarrow (0, 1]$ is continuous ;

for all $x, y \in X$ and t, s > 0.

Note that N(x, t) can be thought of as the degree of nearness between x and null vector 0 with respect to t.

Example 2.3. Let $X = [0, \infty)$, a * b = ab for every a, $b \in [0, 1]$ and $\|\cdot\|$ be a norm defined on X. Define $N(x, t) = e^{-\frac{\|x\|}{t}}$ for all $x \in X$. Then clearly (X, N, *) is a fuzzy normed linear space.

Example 2.4. Let $(X, \|\cdot\|)$ be a normed linear space, and let a * b = ab or $a * b = \min\{a, b\}$ for all $a, b \in [0, 1]$. Let $N(x, t) = \frac{t}{t+\|x\|}$ for all $x \in X$ and t > 0. Then (X, N, *) is a fuzzy normed linear space and this fuzzy norm N induced by $\|\cdot\|$ is called the standard fuzzy norm.

Note 2.5. According to George and Veeramani [1], it can be proved that every fuzzy normed linear space is a metrizable topological space. In fact, also it can be proved that if $(X, \|\cdot\|)$ is a normed linear space, then the topology generated by $\|\cdot\|$ coincides with the topology generated by the fuzzy norm N of example (2.4). As a result, we can say that an ordinary normed linear space is a special case of fuzzy normed linear space.

Remark 2.6. In fuzzy normed linear space (X, N, *), for all $x \in X$, $N(x, \cdot)$ is non-decreasing with respect to the variable t.

Definition 2.7. [18] Let (X, N, *) be a fuzzy normed linear space. A sequence $\{x_n\}$ in X is said to be convergent or converge if there exists an $x \in X$ such that $\lim_{n \to \infty} N(x_n - x, t) = 1$. In this case, x is called the limit of the sequence $\{x_n\}$ and we denote it by $N - \lim_{n \to \infty} x_n = x$.

Definition 2.8. [18] Let (X, N, *) be a fuzzy normed linear space. A sequence $\{x_n\}$ in X is called Cauchy sequence if for each $\varepsilon > 0$ and t > 0 there exists an $n_0 \in \mathbb{N}$ such that for all $n \ge n_0$ and all p > 0, we have $N(x_{n+p} - x_n, t) > 1 - \varepsilon$.

3 The Generalized Hyers-Ulam-Rassias Stability of the Functional Equation

In this section, let X be a real vector space and (Y, N) be a fuzzy Banach space.

Theorem 3.1. Let $\psi : X^2 \longrightarrow \mathbb{R}^+$ be a function such that

$$\sum_{i=0}^{\infty} \frac{\psi\left(2^{i} x, 0\right)}{4^{i}} \quad converges, \qquad \frac{1}{8} \sum_{i=0}^{\infty} \frac{\psi\left(2^{i} x, 0\right)}{4^{i}} = \widetilde{\psi}\left(x, 0\right)$$
$$and \quad \lim_{n \to \infty} \frac{\psi\left(2^{n} x, 2^{n} y\right)}{4^{n}} = 0 \tag{2}$$

for all $x, y \in X$. Let $f : X \to Y$ be a function such that

 $\lim_{t \to \infty} N\left(f\left(2x+y\right) + f\left(2x-y\right) - 2f\left(x+y\right) - 2f\left(x-y\right) - 4f\left(x\right) + 2f\left(y\right), \ t\psi\left(x,y\right)\right) = 1$ (3)

uniformly on $X \times X$. Then

$$Q(x) := N - \lim_{n \to \infty} \frac{f(2^n x)}{4^n}$$

exists for each $x \in X$ and defines a quadratic function $Q : X \to Y$ such that if for some $\delta > 0, \alpha > 0$

$$N(f(2x+y) + f(2x-y) - 2f(x+y) - 2f(x-y) - 4f(x) + 2f(y), \ \delta\psi(x, y)) \ge \alpha$$
(4)

for all $x, y \in X$, then

$$N\left(f\left(x\right) - Q\left(x\right) , \ \delta \ \widetilde{\psi}\left(x \ , \ 0\right)\right) \ge \alpha$$

$$\tag{5}$$

for all $x \in X$. Furthermore, the function $Q : X \to Y$ is a unique function such that

$$\lim_{t \to \infty} N\left(f(x) - Q(x) , t \widetilde{\psi}(x, 0)\right) = 1$$
(6)

uniformly on X.

Proof. For a given $\varepsilon > 0$, by (3), there exists some $t_0 > 0$ such that

$$N(f(2x+y) + f(2x-y) - 2f(x+y) - 2f(x-y) - 4f(x) + 2f(y), t\psi(x,y)) \ge 1 - \varepsilon$$
(7)

for all $t \ge t_0$. Putting x = y = 0 in (1) we get f(0) = 0. Putting y = 0 in (7), we get

$$N\left(2f\left(2\,x\right) - 8f\left(x\right), t\psi\left(x,0\right)\right) \ge 1 - \varepsilon$$
$$\Rightarrow N\left(f\left(x\right) - \frac{f\left(2\,x\right)}{4}, \frac{t}{8}\psi\left(x,0\right)\right) \ge 1 - \varepsilon$$
(8)

for all $x \in X$ and for all $t \ge t_0$. By induction on positive integer n, we show that

$$N\left(f(x) - \frac{f(2^{n}x)}{4^{n}}, \frac{t}{8}\sum_{i=0}^{n-1}\frac{\psi(2^{i}x, 0)}{4^{i}}\right) \ge 1 - \varepsilon$$
(9)

for all $x \in X$ and for all $t \ge t_0$.

From (8), we see that (9) is true for n = 1. Let us assume that (9) hold for n = k, where $k \in \mathbb{N}$. Then we have

$$N\left(f(x) - \frac{f(2^{k}x)}{4^{k}}, \frac{t}{8}\sum_{i=0}^{k-1}\frac{\psi(2^{i}x, 0)}{4^{i}}\right) \ge 1 - \varepsilon$$
(10)

for all $x \in X$ and for all $t \ge t_0$. Now,

This completes the proof of (9). Letting $t = t_0$ and replacing n and x by p and $2^n x$ in (9) respectively, we get

$$N\left(f\left(2^{n}x\right) - \frac{f\left(2^{n+p}x\right)}{4^{p}}, \frac{t_{0}}{8}\sum_{i=0}^{p-1}\frac{\psi\left(2^{n+i}x, 0\right)}{4^{i}}\right) \ge 1 - \varepsilon$$
(11)

for all $n \ge 0$ and for all p > 0. Again, we see that

$$\sum_{i=0}^{p-1} \frac{\psi\left(2^{n+i}x,0\right)}{4^{i}} = \sum_{i=n}^{n+p-1} \frac{\psi\left(2^{i}x,0\right)}{4^{i-n}}.$$
(12)

Since $\sum_{i=0}^{\infty} \frac{\psi(2^{i}x,0)}{4^{i}}$ converges, for a given $\delta > 0$, there exits $n_{0} \in \mathbb{N}$ such that $\frac{t_{0}}{8} \sum_{i=n}^{n+p-1} \frac{\psi(2^{i}x,0)}{4^{i}} < \delta$ (13)

for all $n \ge n_0$ and for all p > 0. Now,

$$N\left(\frac{f\left(2^{n}x\right)}{4^{n}} - \frac{f\left(2^{n+p}x\right)}{4^{n+p}}, \delta\right)$$

$$\geqslant N\left(\frac{f\left(2^{n}x\right)}{4^{n}} - \frac{f\left(2^{n+p}x\right)}{4^{n+p}}, \frac{t_{0}}{8}\sum_{i=n}^{n+p-1}\frac{\psi\left(2^{i}x,0\right)}{4^{i}}\right) \text{ by (13)}$$

$$= N\left(f\left(2^{n}x\right) - \frac{f\left(2^{n+p}x\right)}{4^{p}}, \frac{t_{0}}{8}\sum_{i=n}^{n+p-1}\frac{\psi\left(2^{i}x,0\right)}{4^{i-n}}\right)$$

$$= N\left(f\left(2^{n}x\right) - \frac{f\left(2^{n+p}x\right)}{4^{p}}, \frac{t_{0}}{8}\sum_{i=0}^{p-1}\frac{\psi\left(2^{n+i}x,0\right)}{4^{i}}\right) \text{ by (12)}$$

$$\geqslant 1 - \varepsilon \text{ by (11)}$$

for all $n \ge n_0$ and for all p > 0. Hence the sequence $\left\{\frac{f(2^n x)}{4^n}\right\}$ is Cauchy in Y. Since Y is a fuzzy Banach space, therefore the sequence $\left\{\frac{f(2^n x)}{4^n}\right\}$ converges to some $Q(x) \in Y$. So we can define a function $Q: X \to Y$ by $Q(x) := N - \lim_{n \to \infty} \frac{f(2^n x)}{4^n}$, namely for each t > 0 and $x \in X$,

$$\lim_{n \to \infty} N\left(\frac{f\left(2^{n} x\right)}{4^{n}} - Q\left(x\right), t\right) = 1.$$

Now we show that Q satisfies (1). Let $x, y \in X$. Since $\lim_{n \to \infty} \frac{\psi(2^n x, 2^n y)}{4^n} = 0$, therefore for fixed t > 0 and $0 < \varepsilon < 1$ there exists $n_1 \ge n_0$ such that

$$t_0 \frac{\psi(2^n x, 2^n y)}{4^n} < \frac{t}{7}$$
(14)

for all
$$n \ge n_1$$
. Now,

$$N(Q(2x+y) + Q(2x-y) - 2Q(x+y) - 2Q(x-y) - 4Q(x) + 2Q(y), t)$$

$$\ge N\left(Q(2x+y) - \frac{f(2^n(2x+y))}{4^n}, \frac{t}{7}\right) * N\left(Q(2x-y) - \frac{f(2^n(2x-y))}{4^n}, \frac{t}{7}\right) *$$

$$N\left(\frac{2f(2^n(x+y))}{4^n} - 2Q(x+y), \frac{t}{7}\right) * N\left(\frac{2f(2^n(x-y))}{4^n} - 2Q(x-y), \frac{t}{7}\right) *$$

$$N\left(\frac{4f(2^nx)}{4^n} - 4Q(x), \frac{t}{7}\right) * N\left(2Q(y) - \frac{2f(2^ny)}{4^n}, \frac{t}{7}\right) * N\left(\frac{f(2^n(2x+y))}{4^n} + \frac{f(2^n(2x-y))}{4^n} - \frac{2f(2^n(x+y))}{4^n} - \frac{2f(2^n(x+y))}{4^n} - \frac{2f(2^n(x-y))}{4^n} - \frac{4f(2^nx)}{4^n} + \frac{2f(2^ny)}{4^n}, \frac{t}{7}\right).$$
(15)

Replacing x, y by $2^n x, 2^n y$ respectively in (7) and for $t = t_0$, we get

$$N\left(\frac{f\left(2^{n}\left(2x+y\right)\right)}{4^{n}} + \frac{f\left(2^{n}\left(2x-y\right)\right)}{4^{n}} - \frac{2f\left(2^{n}\left(x+y\right)\right)}{4^{n}} - \frac{2f\left(2^{n}\left(x-y\right)\right)}{4^{n}} - \frac{4f\left(2^{n}x\right)}{4^{n}} + \frac{2f\left(2^{n}y\right)}{4^{n}}, t_{0}\frac{\psi\left(2^{n}x, 2^{n}y\right)}{4^{n}}\right) \ge 1 - \varepsilon.$$

$$(16)$$

The first six terms on the RHS of (15) tend to 1 as $n \to \infty$ and the last term $\geq 1 - \varepsilon$ by (14) and (16). Thus,

$$\begin{split} &N\left(Q\left(2x+y\right)+Q\left(2x-y\right)-2Q\left(x+y\right)-2Q\left(x-y\right)-4Q\left(x\right)+2Q\left(y\right)\ ,\ t\)\\ &\geqslant 1-\varepsilon \ \ \text{for all} \ \ t>0\,,\\ &\Rightarrow \ N\left(Q\left(2x+y\right)+Q\left(2x-y\right)-2Q\left(x+y\right)-2Q\left(x-y\right)-4Q\left(x\right)+2Q\left(y\right)\ ,\ t\)\\ &= 1 \ \ \text{for all} \ \ t>0\,,\\ &\Rightarrow \ Q\left(2x+y\right)+Q\left(2x-y\right)-2Q\left(x+y\right)-2Q\left(x-y\right)-4Q\left(x\right)+2Q\left(y\right)\\ &= 0 \ \ \text{for all} \ \ x\,,\,y\,\in\,X\,. \end{split}$$

Hence Q satisfies (1), i.e., Q is quadratic. Let (4) hold for some $\delta > 0$, $\alpha > 0$. By the same reasoning as the beginning of the proof, we can deduce from (4) that

$$N\left(f(x) - \frac{f(2^{n}x)}{4^{n}}, \frac{\delta}{8}\sum_{i=0}^{n-1}\frac{\psi(2^{i}x, 0)}{4^{i}}\right) \ge \alpha$$
(17)

for all $n \in \mathbb{N}$. Let t > 0. We have

$$N\left(f(x) - Q(x), \frac{\delta}{8} \sum_{i=0}^{n-1} \frac{\psi(2^{i}x, 0)}{4^{i}} + t\right)$$

Journal of New Results in Science 5 (2014) 83-95

$$\geq N\left(f(x) - \frac{f(2^{n}x)}{4^{n}}, \frac{\delta}{8}\sum_{i=0}^{n-1}\frac{\psi(2^{i}x, 0)}{4^{i}}\right) * N\left(\frac{f(2^{n}x)}{4^{n}} - Q(x), t\right).$$

Taking limit as $n \to \infty$, we get

$$N\left(f\left(x\right) - Q\left(x\right) , \frac{\delta}{8} \sum_{i=0}^{\infty} \frac{\psi\left(2^{i}x, 0\right)}{4^{i}} + t\right) \ge \alpha * 1 = \alpha \quad \text{by} \quad (17)$$

For the continuity of $N(x, \cdot)$ and considering $t \to 0$, we get

$$N\left(f\left(x\right) - Q\left(x\right), \,\delta\,\widetilde{\psi}\left(x,\,0\,\right)\right) \geq \alpha \text{ for all } x \in X.$$

To prove the uniqueness let us assume Q' be another function satisfying (1) and (6). For a given $\varepsilon > 0$ and fixed c > 0, by (6) for Q and Q' we can find some $t_0 > 0$ such that

$$N\left(f\left(x\right) - Q\left(x\right) , t\widetilde{\psi}\left(x,0\right)\right) \ge 1 - \varepsilon$$

$$N\left(f\left(x\right) - Q'\left(x\right) , t\widetilde{\psi}\left(x,0\right)\right) \ge 1 - \varepsilon$$
(18)

for all $x \in X$ and $t \ge t_0$.

Since $\sum_{i=0}^{\infty} \frac{\psi(2^i x, 0)}{4^i}$ converges, for some fixed $x \in X$, there exists some $n_0 \in \mathbb{N}$ such that

$$\frac{t_0}{8} \sum_{i=n}^{\infty} \frac{\psi(2^i x, 0)}{4^i} < \frac{c}{2}$$
(19)

for all $n \ge n_0$. Now,

$$\sum_{i=n}^{\infty} \frac{\psi(2^{i}x,0)}{4^{i}} = \frac{1}{4^{n}} \sum_{i=0}^{\infty} \frac{\psi(2^{n+i}x,0)}{4^{i}}$$
$$\Rightarrow \frac{t_{0}}{8\cdot 4^{n}} \sum_{i=0}^{\infty} \frac{\psi(2^{n+i}x,0)}{4^{i}} < \frac{c}{2}$$
(20)

for all $n \ge n_0$.

From (1) we get f(2x) = 4f(x) for y = 0, by induction, it implies that

$$f(2^{n}x) = 4^{n}f(x).$$
(21)

Since Q and Q' satisfy (1), it follows from (21) that

$$Q(2^{n}x) = 4^{n}Q(x)$$
 and $Q'(2^{n}x) = 4^{n}Q'(x)$.

Now, N(Q(x) - Q'(x), c)

Journal of New Results in Science 5 (2014) 83-95

$$\geq N\left(Q\left(x\right) - \frac{f\left(2^{n}x\right)}{4^{n}}, \frac{c}{2}\right) * N\left(\frac{f\left(2^{n}x\right)}{4^{n}} - Q'\left(x\right), \frac{c}{2}\right)$$

$$= N\left(f\left(2^{n}x\right) - 4^{n}Q\left(x\right), 4^{n}\frac{c}{2}\right) * N\left(f\left(2^{n}x\right) - 4^{n}Q'\left(x\right), 4^{n}\frac{c}{2}\right)$$

$$= N\left(f\left(2^{n}x\right) - Q\left(2^{n}x\right), 4^{n}\frac{c}{2}\right) * N\left(f\left(2^{n}x\right) - Q'\left(2^{n}x\right), 4^{n}\frac{c}{2}\right)$$

$$\geq N\left(f\left(2^{n}x\right) - Q\left(2^{n}x\right), \frac{t_{0}}{8}\sum_{i=0}^{\infty}\frac{\psi\left(2^{n+i}x, 0\right)}{4^{i}}\right) *$$

$$N\left(f\left(2^{n}x\right) - Q'\left(2^{n}x\right), \frac{t_{0}}{8}\sum_{i=0}^{\infty}\frac{\psi\left(2^{n+i}x, 0\right)}{4^{i}}\right)$$

$$\geq (1-\varepsilon) * (1-\varepsilon) = 1-\varepsilon \text{ by } (18).$$

It follows that N(Q(x) - Q'(x), c) = 1 for all c > 0. Thus Q(x) = Q'(x) for all $x \in X$. This completes the proof of the theorem. \Box

Corollary 3.2. Let $\theta > 0$ and p be a real number with $0 . Let <math>f : X \to Y$ be a function such that

$$\lim_{t \to \infty} N\left(f\left(2x+y\right) + f\left(2x-y\right) - 2f\left(x+y\right) - 2f\left(x-y\right) - 4f\left(x\right) + 2f\left(y\right) , \ t \theta\left(\|x\|^{p} + \|y\|^{p}\right)\right) = 1$$

uniformly on $X \times X$. Then

$$Q(x) := N - \lim_{n \to \infty} \frac{f(2^n x)}{4^n}$$

exists for each $x \in X$ and defines a quadratic function $Q : X \to Y$ such that if for some $\delta > 0$, $\alpha > 0$

$$N(f(2x+y) + f(2x-y) - 2f(x+y) - 2f(x-y) - 4f(x) + 2f(y), \ \delta\theta(||x||^p + ||y||^p)) \ge \alpha$$

for all $x, y \in X$, then

$$N\left(f\left(x\right) - Q\left(x\right) , \frac{\delta\theta}{2\left(4-2^{p}\right)} \cdot \left\|x\right\|^{p}\right) \geq \alpha$$

for all $x \in X$. Furthermore, the function $Q : X \to Y$ is a unique function such that

$$\lim_{t \to \infty} N\left(f\left(x\right) - Q\left(x\right) , \frac{t\theta}{2\left(4 - 2^{p}\right)} \cdot \left\|x\right\|^{p}\right) = 1$$

uniformly on X.

Proof.

 $\text{Define} \hspace{0.1in} \psi \left(x \, , \, y \right) \hspace{0.1in} = \hspace{0.1in} \theta \left(\hspace{0.1in} \left\| x \right\| \hspace{0.1in} ^{p} \hspace{0.1in} + \hspace{0.1in} \left\| y \right\| \hspace{0.1in} ^{p} \right) \hspace{0.1in} .$

$$\widetilde{\psi}(x,0) = \frac{1}{8} \sum_{i=0}^{\infty} \frac{\psi(2^{i}x,0)}{4^{i}} = \frac{1}{8} \theta \|x\|^{p} \sum_{i=0}^{\infty} \left(\frac{2^{p}}{4}\right)^{i} = \frac{1}{8} \theta \|x\|^{p} \frac{1}{1-\frac{2^{p}}{4}} = \frac{\theta}{2(4-2^{p})} \|x\|^{p}.$$

Corollary 3.3. Let $\theta > 0$ and $f : X \to Y$ be a function such that

 $\lim_{t \to \infty} N(f(2x+y) + f(2x-y) - 2f(x+y) - 2f(x-y) - 4f(x) + 2f(y), t\theta) = 1$ uniformly on $X \times X$. Then

$$Q(x) := N - \lim_{n \to \infty} \frac{f(2^n x)}{4^n}$$

exists for each $x\in X$ and defines a quadratic function $Q:X\to Y$ such that if for some $\delta>0$, $\alpha>0$

$$N(f(2x+y) + f(2x-y) - 2f(x+y) - 2f(x-y) - 4f(x) + 2f(y), \delta\theta) \ge \alpha$$

for all $x, y \in X$, then

$$N\left(f(x) - Q(x), \frac{\delta\theta}{6}\right) \ge \alpha \quad \text{for all } x \in X.$$

Furthermore, the function $Q: X \to Y$ is a unique function such that

$$\lim_{t \to \infty} N\left(f(x) - Q(x) , \frac{t\theta}{6}\right) = 1$$

uniformly on X.

Proof.

Define $\psi(x, y) = \theta$.

$$\widetilde{\psi}(x,0) = \frac{1}{8} \sum_{i=0}^{\infty} \frac{\psi(2^{i}x,0)}{4^{i}} = \frac{\theta}{8} \sum_{i=0}^{\infty} \left(\frac{1}{4}\right)^{i} = \frac{\theta}{6}$$

- 1		
- 1		

Theorem 3.4. Let $\psi : X^2 \to \mathbb{R}^+$ be a function such that

 $\sum_{i=0}^{\infty} 4^{i} \psi\left(\frac{x}{2^{i}}, 0\right) \text{ converges and } \frac{1}{8} \sum_{i=0}^{\infty} 4^{i} \psi\left(\frac{x}{2^{i}}, 0\right) = \widetilde{\psi}(x, 0),$ and $\lim_{n \to \infty} 4^{n} \psi\left(\frac{x}{2^{n}}, \frac{y}{2^{n}}\right) = 0 \text{ for all } x, y \in X.$ Let $f: X \to Y$ be a function such that

 $\lim_{t \to \infty} N(f(2x+y) + f(2x-y) - 2f(x+y) -$

$$2f(x - y) - 4f(x) + 2f(y) , t\psi(x, y)) = 1$$

uniformly on $X \times X$. Then

$$Q(x) := N - \lim_{n \to \infty} 4^n f\left(\frac{x}{2^n}\right)$$

exists for each $x \in X$ and defines a quadratic function $Q : X \to Y$ such that if for some $\delta > 0$, $\alpha > 0$

$$N(f(2x+y) + f(2x-y) - 2f(x+y) - 2f(x-y) - 4f(x) + 2f(y), \ \delta\psi(x,y)) \ge \alpha$$

for all $x, y \in X$, then

$$N\left(f\left(x\right) - Q\left(x\right) , \delta \widetilde{\psi}\left(x, 0\right)\right) \ge \alpha$$

for all $x \in X$. Furthermore, the function $Q : X \to Y$ is a unique function such that

$$\lim_{t \to \infty} N\left(f(x) - Q(x), t \widetilde{\psi}(x, 0)\right) = 1 \quad uniformly \quad on \quad X.$$

4 Conclusion

In this paper, we have made an effort to to generalize the stability theorem of generalized Hyers-Ulam-Rassias Stability of the quadratic functional equation (1) in Fuzzy Banach Spaces. It can be further generalized in fuzzy soft Banach spaces. A lot of works regarding Hyers-Ulam-Rassias Stability of several functional equations have been done in Banach Spaces and Fuzzy Banach Spaces. But almost no work has been done in cone Banach spaces and fuzzy cone Banach spaces. So, we think the Theorem (3.1) can be tried to prove cone Banach spaces and fuzzy cone Banach spaces.

Acknowledgement

The authors are grateful to the chief editor and also to the reviewers for their suggestions to improve this paper.

References

- [1] A. George and P. Veeramani, On Some result in fuzzy metric spaces, Fuzzy Sets and Systems, 64 (1994), 395–399.
- [2] A. K. Katsaras, Fuzzy Topological Vector Space, Fuzzt sets and system, 12 (1984), 143-154.
- [3] A. Mirmostafaee, M. Moslehian, Stability of additive mapping in non-archimedean space, Fuzzt set and system, 160 (2009), 1643–1652.
- B. Schweizer, A. Sklar, Statistical metric space, Pacific journal of mathematics, 10 (1960) 314-334.
- [5] C. Borelli and G. L. Forti, On a general Hyers Ulam stability, Internat J. Math. Math. Sci., 18 (1995), 229-236.
- [6] C. Park, Fuzzy stability of a functional equation associated with inner product space, Fuzzt set and system,160 (2009), 1632-1642.
- [7] D. H. Hyers, On the stability of the linear functional equation, Proc. Nat. Acad. Sci. U.S.A., 27 (1941), 222-224.
- [8] F. Skof, Proprieta locali e approssimazione di opratori, Rend. Sem. Mat. Fis. Milano, 53 (1983), 113-129.
- [9] K. Ravi, R. Murali, M. Arunkumar, The Generalized Hyers Ulam Rassias Stability of a Quadratic Functional Equation, Journal of inequalities in pure and applied mathematics, 9(1) (2008), 1-5.
- [10] L. A. Zadeh, Fuzzy sets, Information and control, 8 (1965), 338–353.
- [11] O. Kramosil, J. Michalek, Fuzzy Metric and Statistical Metric Spaces, Kybernetica, 11 (1975), 326-334.
- [12] P. W. Cholewa, Remarks on the stability of functional equations, Aequationes Math., 27 (1984), 76-86.
- [13] S. M. Ulam, Problems in Modern Mathematics, Chapter VI, Science Editions, Wiley, New York, 1960.
- [14] S. C. Cheng and J. N. Moderson, Fuzzy Linear Operator and Fuzzy Normed Linear Space, Bull. Cal.Math. Soc., 86 (1994), 429–438.
- [15] S. Czerwik, On the stability of the quadratic mappings in normed spaces, Abh. Math. Sem. Univ. Hamburg, 62 (1992), 59-64.

- [16] T. Aoki, On the Stability of Linear Transformation in Banach Spaces, J. Math. Soc. Japan, 2 (1950), 64-66.
- [17] T. Bag and S. K. Samanta, Finite Dimensinal Fuzzy Normed Linear Space, The Journal of Fuzzy Mathematics, 11 (2003), 687-705.
- [18] T. K. Samanta and Iqbal H. Jebril, *Finite dimentional intuitionistic fuzzy normed linear space*, Int. J. Open Problems Compt. Math., 2(4) (2009), 574–591.
- [19] T. K. Samanta, N. Chandra Kayal, P. Mondal, The stability of a general quadratic functional equation in fuzzy Banach spaces, Journal of Hyperstructures, 1 (2), (2012), 71-87.
- [20] T. K. Samanta, P. Mondal, N. Chandra Kayal, The generalized Hyers-Ulam-Rassias stability of a quadratic functional equation in fuzzy Banach spaces, Annals of Fuzzy Mathematics and Informatics Volume 6, No. 2, (2013), pp. 59-68.
- [21] Th. M. Rassias, On the stability of the linear additive mapping in Banach space, Proc. Amer. Mathematical Society, 72(2) (1978), 297–300.
- [22] Th. M. Rassias, On the stability of the functional equations in Banach Spaces, J. Math. Anal. Appl., 215 (2000), 264–284.